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0.5km

0.5km

1.223
0.885

30m
30m
30m
Vs =112.73-N°** .E . F
Vs (n/s)
1.000
1.000
30m
(1994)
LogAVS30m=a+b-LogH +c-LogD +to
AVS30m 30m
H

(km)

0.900

1.379



a,b,c

o
Midorikawa et al.(1994)
1987
LogG =1.83+0.66LogAVS30m +0.16
AVS30m 30m (m/s)
100m/s AVS30m 1500m/s
G 600m/s
6.5 6.9
6.9
4
6.9 4  6km
7.0
(@]



(1999)

LOgPGV g, = 0.58 - Mw +0.0038 - Dep —1.29 + ¢ — Log (X +0.0028 -10°%"" )~k - X

PGV 600m/s (cm/s)
Mw
Dep (km)
X (km)
c 0.0
-0.02
k [ (1999) k=0.002
k=0.0027 ]
600m/s
600m/s
PGVgyy ——
PGV 600m/s (cm/s)
G 600m/s
(cm/s)



(1996) (1999)

(1996)
|l =a+b-LogV —_—

(cm/s)
a,b [a=2.30,b=2.01( ,1996)]
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P(1)=a{(1-2)/¢]




100%

90%

80%

70%

60%

50%

40%

30%

20%

10%

0%

55
56

5 51 52 53 54




=0.0022>< 0-73
=0.0043>< 0-73
=0.00036>< 0-73
16.4% 32.7% 32.6% 6.0% 12.3%
75%
50% ><0.5




100m

(%)
A 10,100

B 20,70

C 3050
D 50,20

E 100,0

(%)
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(1999)

300

0.0676><(

)=0.0676< (
(0.0155/0.0629)

0.055%=<
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S— S35 _ 836—853 S56
53307 ** 591 9?)1 70 2 s
S35 501 901 740 378 13.876
53307 ** 682 1039 = o0 004
53307 ** 101 290 353 ves PYiE
53307 ** 271 413 2 7o 30
S35 211 a1 339 257 6.362
5339 397 505 497 661 9.318
53307 ** 488 743 o e e
5339 188 143 610 584 11445
S35 295 155 620 650 11626
53307 ** 725 1105 S0 oo 7003
S35 125 L10s 908 1128 17.023
5339 e 1232 1012 471 18.981
S35 120 097 901 456 16.902
53307 ** 768 1170 ool "3 2058
S35 166 110 961 463 18.028
5339 624 951 781 445 14.655
S35 631 902 790 856 14816
533 410 116 588 583 11.034
S35 555 _8is 695 522 13.026
533 Gos 042 856 394 16.061
53307 ** 763 1162 et 22 o0
5339 163 162 954 535 17.897
53307 ** 703 1071 oo i TET
53307 ** 892 1359 T = 20908
S350 092 1359 1116 489 20,934
5339 G 338 1,099 720 20.609
S35 626 953 783 403 14,682
53307 ** 723 1102 ot 2o o3
S35 L2; 102 905 549 16.973
53307 * 723 1101 o S s
S35 123 101 904 974 16.957
53307 * 862 1312 o o a0
S35 002 312 1078 672 20.222
53307 * 798 1215 553 o oy
S35 £ Lol 998 578 18.717
5339 953 1351 1192 857 22358
S35 it 1245 1023 1057 10187
5330 iE 157 975 498 18,288
S35 31 661 543 374 10.186
5339 e 479 394 139 7381
S35 27 0 660 350 12368

92 568 381 10,656
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